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Directions Q.1-4- Choose the correct antonym, out of the four given choices, of the given word:-

I.

4.

Canny :- : _ .

A) foolish B) permanent_ R _' C) legal D) rude

A) weak B) admirable - C)adamant - Dycruet -
A) ﬂatterer S B)stainless . -~ C)veteran -~ . D) undue
Narcissismi-- .~ © T R R
A)cleverness . B)arrogance . C) cunning : D) modesty

Directions Q.No. 5-7 :- Mark, out of the four cho1ces the correct meamng of the 1tahcrzed
idioms/phrases used in the following sentences - : st e Nt

5.

Sumedha appears to be in a brown study. ' R '
A)m areveric  B) qulte pessnmstrc -C) fond of readlng D) fond of readmg phrlosophy R

You should not bow dowrr ina l:ouse of Rm:mon BRI : I
A) hurt others . +* . ~'B) sacrifice your prmmples for the sake of conform:ty

' _"C) criticize others R D) be lndlfferent to others B

e Ramesh advised us to go fo; the Juguia.' --'-. i T
'.-A) be calm i B) be smart ) be aggresswe : D) be actwe

_ D;rectlons Q. No 8-10:- - Choose the correct preposmon out of the four grven chorces to be
_ﬁlled in the gaps of the following sentences - : i

8

b 1 1.
ERRE )

R X

The novelist has - alluded the First World War ‘in thls novel RS
A) from o B)of e C)w1th S _D)_to:_ £
' Harry abstamed : non—vegetanan food DO TA I DR
' A)from “Bby . Q) off © - . Dyon
_There seem_s to be no Tespite the soaring mﬂatmn R
-.A) out oo B) from L C) for_ S _-D)___abﬁ)li_ﬁ. :
' -The metaI usedmstomge battenes is _' ) i e i
~oA)iron B)copper .. C) lead i C.Dytin .
: "'Wlnch of the followmg is essenttal for blood ciottmg'? '. TR S
CARBC . B)WBC C) Blood platelets b _D) Lymph -
: Thermos ﬂask keepsahquld hot because Rt e
- A) It has double walls. = = " .

~B) It has silver coated walls . g

- :C) Air between the double walls rs lernoved

s
5 : 1_6..
U

18,

~:7.-D) Heat loses by conductron and radlat1on are largely prevented

- 14 .-'__Lapatoscopy is connected w1th : A S R
o UA)radars o :_' B)Sc1enceoftrssues B N N S

- C) study ¢ of laser beams D) gynaecologlcal operatron '

: Which of the foIlowmg vrtamms is consrdered to be a hormone? S

-Sikh Guru Aqun Dev was kllled duung the 1e1gn of RN : S
S A) Humayun - - B) Akbar )] Jahangrr :'.._; o D) Shah Jahan e
“The first Europeans to come to Indla were ;' S Ghnin
.’A) British -7 B) I)utch : C) Flench D) Portuguese

-:'The last Governor General of Incha was - _ P
T "A) Lord Dalhousre B) Lord Mountbatten C) C Ra_]agopalachan D) Lord__Ca_t_ming_ s
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19.

20,
21,

22,
23,
24,

25,

Who among the following was called as ‘Father of Indian Renaissance’?

A) B.G. Tilak B) Gopal Krishna Gokhale
C) Lala Lajpat Rat D) Raja Ram Mohan Roy . .
The design of the National Flag was adopted by the Constituent Assembly of India in
A) July, 1948 . B) July, 1950 . =~ C) July, 1947 - D) August, 1950
The Period of Twelveth Five Year Plan is . o
A)2007-2012 B)2012-2017 - - C)2009-2014 - ~ . .D) 20102015 -
In India, The Black Revolution is associated with self dependence in the ploductron of
A) mustard seeds “ . .--B) crude petroleum TR

: C)blaclcbox oo D) coffee B
Capltalgamstaxmapartof _ SR
A)WealthTax -~ . B)Gift Tax Sl

. C)BstateTax = "= o0 o0 D) Income Tax o0
- Special Drawing nghts (SDRs) 1elate to ' R
--A) the World Bank - oo B) the Reserve Bank of Indra g

_'C) the World Trade 01 ganlzatton D) the Intemattonal Monetary Fund. -

“In whrch of the following c1ty Indra s first all—women bank Bharatiya Mahlla Bank was -
S maugurated by the Prime Mmlster, Dr. Manmohan Smgh and Mrs Soma Ganth on
~‘November 19,2013? .= :

s A) Delhi . B) Gurgaon ' -0 Bangalore '. D) Mumbat .

26,

.

South Aﬁlea s ﬁrst black President and antt-apartheld icon Nelson Mandela dred at the i e
-age of 95 on December 5 2013 Wh1ch of the followmg dates has been fixed as Mandela e -

.- Day? - - o
AyJuly17 B) July 16 C) July 19 -' D) July 18 .
- Which of the followmg is the theme of Intematlonal Day for P1 eservatlon of the Ozone '
- Layer2013? . . T R A :
A)SaveEarth - oo B) Ozone Lets Save It

OA Healthy Atmosphere, The Future We Want =) Ozone Safety Future Safety . _. S

28

29

30,

* Which of the following days is decla1 ed as ‘Internanonal Day of Sports for Development SRS
~and Peace’ by United Natlons inAugust, 2013? ©ooo P

My B)Februaty6 . 0 Apnl 6 i D) June 23 b

: '_lOlth Ind1an Scrence Congress was held at; i RN e

CA) Bangalore R B) New Delh1 j_ C) Hyderabad e D) Jammu

:Wh1eh of the followmg Mov1es was glven the 2014 Osear Academy Award in the Best AR
- Picture Category: .. 8
-A) 12 Years a Slave B) Dallas Buyers Club _ C) Blue J asmme D) G1 avrty :

n

- ‘Metal’ is related to ‘Conductmn in the same way as ‘Plast:c 1s related to o e
-.A) Petaochemlcals B) Industnes C) Inﬂammatron D) Insulatlon i

: Select the mlssmg (‘7) word f1om g1ven alternatzves on the basls of the relatlonshkp_ e
" between the words given on the left/nght hand srde of the 51gn ' : C

Hill ; Mountam ? : Pain

2o ‘A)Distress . * " B) Dlseornfort :-Z C) Headaehe ::. ) D) Fear E e
- Dlrectlons Q. No.33 & 34 Three of the followmg pairs a1e alxke m a certaln way and henee
form a group. Which one does not belong to the group? =~

A) DONE: NOED - B) WANT NATW O WITH TIHW : D) HAVE AVEH

A)59 B)?ll 0)13 7 D)293l

LO/Page 4 of 10




35.

36.

If TEMPLE is coded as VHQURL, how would you code CHURCH?
A) EKYWIO B) EKUWIO  CEKYWIN - - D) EKYWJO

‘baw haw daw kaw’ means ‘Poachers killed some tigers’, ‘vaw gaw Jaw haw means
‘Tigers are brave creatures’, ‘kaw taw maw vaw’ means ‘some watchman were brave’

~and ‘maw jaw naw baw’ means watchman are searchmg poachers Then what does

“kaw baw’ means? o S
- A) some watchman . B) brave ttgets L C) some poachers D) kttled tigers :

Directions Q.No. 37 to 30 Read the pattern of words/nuznbers and ﬁnd the missmg tenn ﬁom _
the given alternatives: . S .

37

39.

40,

41,

42,

43,

QAM, SEO, ?, WOS, YUV

S AUN . BUP . QUQ D)UIM

824, 615, 406, 7 B P e
N6 BT g D)736 R
2, %36 5 12, 7, 20, 11 e S o
A)1 L B2 @4:j'*z -WB

‘A school bus goes 3 km north from the school and turns left. It goes 5 km further takes a .
“left turn and travels 8 km. It takes a left turn from there and goes 5 km further. FmalIy, it
. takes a left turn and goes 2 km. How much should the school bus tlavel and in Wthh o
- direction in order to reach the school? . - - - SR

~A) 3 km South § B)3kmNorth : C)Skaest s D)5kmNorth

‘A x B’ means that A is the sister of B, ‘A B’ means that A is the daughter of B,

‘A =B’ means that A is the son of B. On the basrs of thrs mformatron how isP reIated to
:__Slnthe relationshipP - QxR +8? = . D :
-A)Brother . B)Son _ _' C) Cousm R D) Daughter s son
. Pointing foa lady in the photoglaph “Seema said, “hel son s father is the Son-m-law of .
"~ my mother”, How is Seema related to that iady‘? ' SN '

A)Sister . B)Mother C)Cousm s D)Aunt

; In the fo!lowmg serres, some letters are mlssmg whrch are glven in that order as one of
- the alternatives below it. Choose the correct alternatwe - Lo
. n-gn-ngt—tqqtn—n—tqt, e e SRR,

'.f-A) nnqlq B) qtnqt C) ttnqn Lo D) qqtnt

: Dlrectlons- Q No 44 to 46: Read the followmg mformatmn to answer the questtons based on tt -

' Seven letters are arranged in a line as follows:

a
45, .
46.

47,

(i) E and F have one letter between them.. ' (11) G is to the rlght of A

- “(iii) B is to the immediate left of F. " " (iv) There is one letter between D and A.
(v)Dis not G’s nelghbout B (o (v G and F have two lettels between them
“Which’ let‘ter is second to the Ieﬁ of letten A? o o

A)C- e BYB C)D D)E
L ;Wiuch letter w1tl be exactly in the mtddle of the letter series S0 obtamed" [EIR
SUA)D B)A Pt C)E D)Noneofthese SRS

* Which pa1r of the lettets is adj acent to the Iettel B?

AAamdC  BGadE C)Eand'F' -D)candA-_;.r"'"

-_How many trlangles ate there in the gtven ﬁgule‘? S

A)28 R B)24 C)zs o D26
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48.

49.

50.

51,
s,

- s4

. 56.

A person was asked to state his age in years. His reply was, ‘Take my age three years
hence multiply it by 3 and then subtract three times my age three years ago and you will
know how old I am.” What was the age of the person?

A) 18year j B)20year . C)24 year f o D) 32 year

The six faces of a cube are coioured black brown, green red wh1te and blue in the
following ways: '
(i) Red is opposite to black (n) Brown is ad_]acent to blue (iif) Blue is adjacent fo wh1te

- {iv) Red is at the bottom surface. - (v) Green is between red and black

Which colour is opposite to the Brown colour?
A) Whrte _ -~ B)Red o C) Green TR D) Blue

A result of a survey of 1000 persons with respect to therr knowledge of Hmdr (H)
Enghsh (E) and Sansknt (S) is grven below: S A i

Fmd the number of persons who know at most two languages FEE I IR R RN
A)410 . B)3I0 0900 D) none ofabove

'Art1cle 20 22 relate to the fundamental rrght to lrfe and personal llberty These nghts are
available to R

- A) Citizen’s and non cmzen ':- :' _ B) Natural persons only

0O Artaﬁcnal persons e D) Cltlzen only _

' "“There is no reason to compel non—smokers to be helpless vrotnn of air polIutton was
S A) Murlr S. Deora V. Umon of Indla B) Samatha v. Umon of Indla

_ C) M.C. Mehta v. Union of Indra o : 3_ D) None of the Above '

CAf the Presrdent of Indra wants to tender his resrgnatron before exprry of hlS normal term o
" he has to address the same to; =1 .
: A) Chref Justrce of Indra 8 B) Parhament C) Prtme Mmrster D) Vlce~P1estdent

_ :f Ra)ya Sabha can \Vlthhold Money Brl_ls for a penod of e KT R
A0 days L B) 14 days - . C) Six weeks "; D) er months _
55 The Suprerne Court of India observed that the word soerahst’ in the Pr camble enables
_ the court to lean more in favour of ratlonahzatron and State ownershrp of mdustry in: oo
- A) Kesvanand Bharti v. State of Kerala R B) Excel Wear v. Union of Indra S

"C)AB. S K (Sangh) Raﬂway V. Umon of Ind1a D) None of the Above

-.The petrtlon under Artlcle 32i 1s :
~ ' A) Subject to the Indian Limitation Act .~
* - B) Not subject to any of the Acts of Parliament

C) Limitation defined under the rules of antatron |

R D) None of the Above o
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57.

58,

59.

60.

61.
62.
L
e

_-_.6_6..

67.

69,
72,

73.

The principle ‘ubi jus ibi remedium’ was recognized in:
A) Winterbotton v. Wright B) Ashby v. White
C) Rylands v. Flecher -~ ' D) Champman V. Pickers_gill_

Tort is a violation of:
A) Right in personam B) Right in rem C) None of the above D) Both of the above

M.C. Mehta v. Union of India, (1987 SC) isa decrslon on: .
A) Strict liability B) Vicarious liability C) Absolute ltablhty D) None of the above

When two persons are the descendants of a common ancestm but by d1fferent wrves they

are said to be related to each other by: B
A) Halfblood - "B) Fuil blood _ C) Utune blood i D) None of t_he above

Who deﬁned)ur_rspr_udence asasmenc_e oflaw"?”' e S P
A)Holland B) Salmond . C) HIL. A Hart .~ D) None of the above

Who is the author of book “The Future of Human Rrghts‘?” BRI U S
A) Shash1 T haroor B)Upendra Bax1 : C) Arundhatt Roy D) Nelson Mandeia o

Who is the member of the ohref electron connmssroner of Indra" i

E A) Navin Chawala B) S.Y. Qurarsh1 O VS Sampat : D) None of the above

Savrgny propounded the theory of volkgelst but another junst opposed Et and supported :
codification; who was he? _ e

A)Puchta B)Thrbaut o C) Hugo D)Burke |
: Whrch of the follow1ng15notagroundfordworce” o 1' AR o
:.A) Insamty By Eprlepsy C) Leprosy = . D) Veneral dlsease
. “In which _year_ consent theory of d:vorce was 1ntroduced in the Hmdu Mamage Act _
._229)5159979 B)1964 L C)1976 D) 1956

“What is the nght of purchaser_ of an undzv:ded interest of a coparoener‘? i EEoE
. A) Right to sue for partition :_' - B) Mesne profit from the date of purchase to date of suit oo
- -C) Both of the above D) None of the above g R P SRR

B 68 ."Which of the foﬂowmg country is not a member of UNO"

A) Switzerand - 0 . B)Taiwan . C) Nrgena e I)) Senegal _f:
In whlch of the followmg States has Blcameral Leglslature? I _' o i faet
"'_-'A) Htmachai Pradesh - - B) Delhl - C) Kerala_ GEa D) Bihar . "
- Grave and suddenprovocatron is: i : Rpa e
oA Questlon oflaw . 0 i B) Questron of fact : .
0 Mixed questron of fact and law S D) Mere presumptlon in Iaw B R TR
: Removal of ornaments from body aﬁer causmg death is: e
. A)Robbery - Rt -7 "B) Theft - e
~ C) An offence under sectlon 404 o _D) No offence under IPC b
_Sectlon 511 does not apply in case of O o o
A Attempt of riot EVEEARER R '._';S_Z.B) Attempt ofmurder B s,
-0 Attempt ofdeath S :D) Attempt ofaffray R
_ How an agency can be termlnated’? _ - v
* A) Revocation by the prmerpal R B) By efﬂux of tnne R
'C) Both ofthe above B _-"D) None ofthe Above _3'
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74.

75.

76.
71.

78.

7.

80.

8l.

8.

Novation of a contract means:

A) The renewal of original contract

B) Substitution of a new contract in place of original contract
C) Cancellation of contract

D) Alteration of contract

Who sald that ceﬂamty of law is myth'?

_A) Llewellyn B) O W Homes Q) Jerome Fra_nk D) Gray _

What is wrongful gain’? ' ' o
A) Gain by unlawful means of property B) Wrongly acqune property .
C) Property taken 1llegaily B D) Undesned gams

Which of the followmg is not a general exception under Chapter v of IPC‘?

_.A) Act of child under 7 years of age . - B) Actof a person of unsound mm.d
C) Act of J udge when actmg Judmally D) Act of God .

By which of the means an abetment cannot be comnntted‘? 'j S ;
'A) Instlgatlon S B) Consplracy _ C) Motlvatlon o D) Ald '

‘Which of the foIIowmg is necessary 1ng1ed1ent of the offence of sedmon
+A) Disaffection towards government established by law it
. B)Disloyalty towards natlonal culture - :
- "C) Hiding thieves

D) Purchasing of arms L R o .
In which of the followmg Statutes the offences relatmg to electlons are prov1ded‘?

'A) Indian Elcction Act, 1951 -~ " * “B) Constitutional Act, 1950 =
- C) Indian Penal Code, 1860 " D) None of the above -
‘What is the maxl_mum pumshment for glvmg false ev1dence _under IPC" o RRRTHE
- A) Three years .~ B) Seven years - - C) Ten years B D) Fourteen yeals L
Which of the followmg does not constltute kldtlappmg" P RS
- A) Kidnapping from India =~~~ - B) Kidnapping from lawfui gualdlanshlp
- ©) Kidnapping of a mmor D) All of the above - A

- Which of the following is a successful attempt"

A) Rocky breaks a box but finds it empty

: ‘B) Vicky thrusting his hand into pocket of Ram but ﬁnds it empty : L S

84,

8.

86.

C)Both (a) & (b) _
- D) None of the above g

= Whether foﬂowmg statement is an adm1ssmn‘? | L ' '
- “The question is, whether a ho1se soId by Ato B is sound A says to B go and ask C. C

know all about 1t” 3 AR NRRTEE
A)Yes B) No o o C) May be - D) AlI ofthe above '_ S
Which of the foliowmg fact need not to be ploved before the couat" ESEDE e o

A) Said by witness ... oo B) Court takes the Jud1c1ai notice

) Investlgated by pohce T - D) None of the above

Which of the followmg is not pubhc document" - S ' R S
A) Public record kept of private doeuments B) Record of ofﬁcml bodies and tribunal o
C) Record ofsovelelgn authorlty o D) Ali ofthe above DT
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87.

88.

89.

91
092,
" - Convenience, decency and morals? .

R | "'A) Any Maglstrate B) Coult of Sessmns C) DlShiCt Court D) All of the above
93,

According to the following statement, on whom the burden of proof lies?
Sohan desires a court to give judgment that he is entitled to certain in the possession of
Mohan, by reason of facts which he asserts, and which Mohan denies, to be true.

A) Sohan B) Mohan C) David - : -{ - D) None of the above
Which of the questions may be asked in cross exammatton" i i

A) Leading oosoe ol B) To test the veracity of w1tness

C)To shake his credit = _' oo D) Ail of the above - S

-Can a person be convicted on the evidence of accomphce” A
.. A) Yes, if he is competent witness - ... B) Yes, if his statements are cmroborated _
- C) Yes, 1f his statement has documentary proof D) All of the above o S

90,
" UA) Arbitration : ©.B) Affidavits " | :
C) Court marttal unde; Axmy Act i o D) None of the above S

The Indlan Ev1dence Act 1872 apphes to which of the followmg proceedmgs" .

Which of the followmg offence is ballable‘? S K

A) Murder S B) Rlotmg : C) Theft '_ L D) None of the above

Which court has the ]urlsdlctlon to try the oﬁ‘ences relatmg to pubhc health safety, |

_ ; The Code of Crnmnal Piocedme 1973 apphes completely to the whole of Indta except _. |
- the State of ., '

R .A) Jammu & Kashmu B) Nagaland C) Tnbal areas undet States D) Ail of the above _

94,

95.

What is the hmltatton peuod f01 ﬁlmg a su1t to redeem the possess1on of 1mmovable o

~*'property mortgaged? | _-
L A) Twelve years B) Twenty yeals : C) Thuty years o D) None of the above .
-':'What does the ejusdem genens mean‘? S Gl
A) thferent generatlon SRR TR B) Of the same kind G
Y One generatlon NS G D) General attltude SR

97,

:._.:5_What is the validity of followmg statement/conditton‘? Lo Ll 2

. “A give on 1ease lns farm to B on the condltlon that he shall walk hundred mlies in an _'
“hour”- 2 S S

- A) Vahd RO B) Legal s - C) VOId .:: : D) None thhe above -

' '-.-_Wluch of the fol!owmg 1s not a necessary element of lis pem/ens? Ry : .
~A) Suit in a competent court of Jurlsd:ctlon B) Suit must be collus:ve SRR REtak

. C) Suit relatmg to unmovable propeity D) There must be transfer of propetty o g

| .'98.'_

99,

100. |
- A)Morale setoff - ‘B) C_ou_nter clalm _ C) Equltable set off D) Set off

‘Which of the followmg is an essent1a1 COﬂdlthIl of the usuﬁetuary mortgage’7 :
A) Delivery of possession to moﬁgagee _ B) Payment of regular pr emium th;ough cash

- )] Perlod of lease is ten yeazs only . D) None of the above TR

Which of the foIlowmg is not a Junsdwtlon of the c1v1l courts" o

A) Place S B) PCI‘SOH C) Pecumary ) .D) By agreement '

Which of the followmg is not deﬁned in the le Procedure Code?
: x**#********
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Ans.

76
77
78

79
80
81

82
83
84

85
86
87

‘89

oo

92

93

96 |

97

98 -

oy
100 |

Ans.

51

52
53

54

55 =

56 -

57 .
58

61
62

63
i

65

o

&
69

0

70
2
| 73

75

Ans.

26
7
28

29

30

32
33

34
35

37

38
-39

40

41
42

43
44

a7

50

Ans. _

110

1

12

14

15
16

18
1

20, :

22

24 |
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